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EDUCATION
(ram
: PAPER-II
. - WA Y2A-IT
" Note :—This paper contains fifty (50) mult1ple chome questmns, each carrying two
- (2) marks. Attempt all questmns

vﬁ& =l WAL WA (0) GigRsen Ul 3. n&s w'«t'll 61 () 42 .
oal % Mttt GuR auil, |

1. Which of the following statement is not true aooordmg to Rousseau ?
(A) Boys and girls should have similar education.
(B) Society exerts negative influence on the education of children.
(C) Values arise from chidlren's 1nteract10n with environment.
() Education should not be hurned
R wegr AAuniel 53 Reat Wz Aol
@) B AA GEAAR W Rad Aaag ASA.
(B) cuasiit [Ram 4 WY siUMs noud Qo 53 S,
(€) wdlar@ WAL ounsi-l Aidnasidl Yl Geald .
©) RDam Gawad « suug AsA.
2. Philosophy of education necessarily includes : _

(A) Classification of gbals and aims of education.
(B) Formulation of educational policies.
(C) Determination of all curricular inputs. -
o Emphésis on moral values.
Riaa- Baysdl 55 cusdd 2Raded wd @ ¢

A Raani Al A arlid wedlsa,

. @) Raadl lasidl 2.
(C) OUUASHAL 018l % Ul [?m{aet
@) ks el 4 ol
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“Existence precedes essence” means :

(A) Man’s life begins before birth.

(B) Man bhas no existence, but only essence.

(C) Man's existence has no meamng

(D) Man is born first and creates hJS meaning later on.

yfda drad Yol 8. -fl al wef a7

A) WM @art ¥ udal A3 A 8.

® wgA #fdc <, W wea B.

(© il ARt sl el Al

@) A uddl ot B i Ul Wit el udd 53 9.
Which school of philosophy favours core- curncutum ?
(A) Ideslism - : '

(B) Realism

(C) Naturalism

() Existentialism | -

Baydl-l 5§ Rarwl et£au umuasnv[l cta.%la 17
@) 2uedaie
B) ARdAUE
(©) Rglaaue

D) »Rdcaque

Which of the followmg comept is not related with pragmatlsm ?

(A) Growth

(B) Expenentlal learning -

(C) Learning as problem-solving - -

(D) Education of feelings -

AA-uniell 59 Aseu-il AagAE ad WiRa vte[l 1
@) Rsin

B) geilds xen

(O) ARG A3 viyud

@) awellxig fae
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6. Loglcal empiricism is : -
.+ (A) A non-metaphysical phﬂosophy
" (B) A non-ethical theory SR
(C) A non-analytical discipline
O A non-experimental view of life
A5 vreaaie g S ?
A) [Bid-dealnizlly Baysl
B) Bi-spaizaily Rgia
© Bir-Ardusicus RQena -
®) Dandl Bl glesia -
7. Who is associated with the kindergarten pattern of education ?

(A) Rousseau ' : (B) Pestalozzi -
(C) Froebel @) Childs
Raw-dl Brsud dle wd da dsoudg & 7
Aa) 3 (B) Wetdifl
(©) #dd - (D) AHESY,

8. The concept of supramental is introduced by :
(A) Shri Aurobindo (B) Freud
(C) Jung (D) Patanjali
ARl Aseut s 2 53 ?
@) N =0 | (B) %S
o ) wdxla

9. Basic Education gives the highest priority to :
(A) Learning of mother-tongue
(B) Learning through craft
(C) Learning for democratic citizenship
(D) Learning to live a simple life
qffuid] Qe deuy ey wl :rwl 87
(A) MUGMIMY] AP
@) Gelidt gL Raw
(© alswdly Al scd W2 Ry
D) eyl waq mé:; Aot
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10,

11.

12.

s

Which of the followmg beliefs is not held by Marxism ?

(A) Revolutlon is necessary for qualitative transformation of somety
(B) A classless society is the best form of society.

(O). Production oriented education is good education.

(D) Economics should not have a mgmﬁcant place in c\rmculum
wsAale AA-uniel 5§ wAdL wptadl o ? -

A) W% JRucts 3uid W il stfad 8.

B) dl-[adl wuy A Wy Gan eqstl S, -

(€ Gauted 3+l Ram A w3 R ©.

(D) vl CHINSHUL JAS [ NG A,

Buddhistic Philosophy- does not believe in :

' (A) Momentariness

(B) Becoming world

(C) Existence of Soul

(D) - The Law of Karma

g Bayfl wui <l sudl ?

K6 amoidtaie

® wRad+ wug oo
(© 2uctd il
@) st Reid

~ According to Samkhya the normal cause of :phenomenal world 18 :
" (A) Purusha

(B) Prakriti

(C). Panchmahabhutas .
@) All of the above .

Ay v wleulRs %am-,; LY. 539 g; 87

(&) YN

®) ugla

(C) dudeioyd

(D) GuL sai o
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13,

14,

o

15.

Avidya in Vedanta means :

_~(A) The ultimate ignorance

(B) The illusion gbout the world
(C) Maya operating in an individual’s mind
(D) Forgetting of Sat, Chitta and Anand

Qs Qe wd W S 7
(&) wiln wan |

®) % Rl an
(©) ABari Wi sdslla s
@) A P 24 el Qayld

.The policy of equalization of educational opportumtles between various soc;tal '
~ classes aims at equahzmg their :

(A) Entry to schools _ - (B) Financial status . -
(C) Achievements _ (D) . Duration of schooling.

el et Ailrs @l A Jafs asil el mé-[l Ao zu-{l AL
adld ag R 8 ? |

(A) Won-udsgk - (B) s aa.onh

© R o ®) o@d-dl wuuq{a
Sociological thinkers equate education with : '
(A) Schoolmg

B) Teaching and learping

(C) Social life through co-curricular activities

(D) Development of personality by means of social life
wurwely Rast Raad au«ﬂ AN atel Q7

(A) HAdR

(B) BUUA i MUY

(©) dseuRas uqMll arl Awulrs waq

M) W5 Dan gt AlEaa Qs
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16. Socialization is :
(A) A process through which an individual adapts to his socisl environment.
(B) A process of acculturation. ' -
(C) None of the above.
(D) Both of the above.
AMDSIR A2Q
(A) Al wEAL F gL AlBd didiy zum.[% walazet mit 2»1:1,35'1 A €9
B) Agdlsaa-l ulzu.
(C) Gury s wa dl.
). Gur- oix,

17. Social mobility means :

" (A) Movettient of an md1v1dual from one social class to another class
(B) Upward movement of the entire society.
(C) Movement from rural area to urban area.
D) 'Movemert towards a classless society.

oanufrs afRellad MNed -
@A) AaBad 2s wulys adlnidl ofiog wulys adl azs. %’3
(B) AU wM-d Gledafq, :
© umell, 23 Rz g g,
@) iR Wy ds %qg. -

18. _Socia]izatioh is a process that :

(A) Continues throughout the life of an individual.
(B) Continues throughout the schooling of a child.
(C) Takes place only in formal social groups.
(D) Takes piace in childhood.
AUDHU A5 Al uBa & ¥
(4) ALz A wart LB aadl B,
(B) siusnil elRtd s wadl Q& H

(O g5a AwAlRs wulrs UMl wsy oA B,
(D) oUCHIARINTL AU oA 8,
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19.

20,

T

21.

Political socialization means :

(A) Citizenship education.

(B) Active participation in elections.

(C) Mastering the sociology of political science.
(D) Training the political leaders. |

ALY WD N2d

A) “tsa wed (aaw.

@) deelldi By vecubral.

© A Asiti wuzaedl Ryadt.

Dy XA Al .

Which of the following statements is not true ?

(A) Education is a pre-requisite of ‘economic developmenta
(B) Educational system provides labour force for the economy.
(C) Education helps in human resource development.

(D) Higher education is the most significant factor for economic development.

DAniofl s Ruwt A e ?

@) s sy we Ra a9,

®) daRs wafd wddxr w2 axan 33, W @
© Ram WA Bwa Qs vee 52 8.

©) >ulls Rs w2 G [Raw Al ay yas wRaa 8.
Endogenous social change could be caused by : '
(A) Invasion

(B) Planning
© Colonization
) Culture contact

el Geotadl wud¥s ‘{[ch{'t:; mm 2 s w7

(A) HUsMA

- (B) A%

(C) Aan-flsaa
@) Aiglas Aus -
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22. Edt;cation M
(A) forms a continuum
(B) is a single commodity
(C) is a homogeneous service
(D) none of the above
e
(A) Adcad e 53 @
(B) 315 AU g O
(€) ¥ AHZYL AaL 8
D) Gud A5 wa «dl
23. Which of the following is the most mﬂuentlal oonstramt on modermzatxon
of Indian Society ?
(A) Wide-spread illiteracy.
(B) Multiplicity of religions. -
(C) Large amount of tribal population.
(D) A powerful heritage of culture. '
epdly W sugllsami 54 mzm alefl QY u«ucuuﬂ[l @ ?
A) sla—aird Ra:q.
®) 4l cgadt,
(©) iRl wwurll vo Wi cnc[l
(D) Argla-l noenamell . -
24. Social change in India is constrained due to :
(A) Religious diversity
(B) . Linguistic plurality.
(O) Rigidities of caste- structures
D)) Mulnphclty of ethnic groups
onRddl Aulrs yRaddd sy ttl’%bwl z»tqzlqan 8?7
@) wbis dfQey |
®) eufla sgailRal
© aula-u wavu-ll wsd
D) ails mu:; oligen
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25.

26.

Match ‘A’ with ‘B’ and find out the correctly matched series :

A B
{0O) Democracy o (S) Cominon rites
® Stratiﬁcation_ M Eq\ial rights
(Q Religion ' (U) Equal prestige
(R) Culture | (V). Common béliefs.
4 0—S PV Q-T . R—U -
® O-T P—U QS  R-V
(© 0-U P—S Q—T R—V

® O0-S  P-T QU R—V

Ca B ‘e’ fAsua Ast AR well XA AZ Aefl caldl

a | ; -
(0) disud) - | © udurury QR
P) w529 (T) A 855

(@ a4 | U) i wlanst

®) sl | - (V) A, HR Al

A 0-—8 P—V QT R—U

B O0-T P—-U - Q—S R—V
© o-uU . P-S QT RV
®) 08 P~T QU  R-V
“A person feels good when he knows he is acéepted by others.” This is an
example of : _ | o |
{A) The need for belongingnéss (B) Self-actualization needs
(C)  Esteem needs (D) Safety needs

 tord Al Ad 3 ofloguil Al ellsiz 53 B cud AR wg sl @ S}

Wy Gelgw 9 7 |
A) Ax-iusti-l AlaMsAlL ~ (B) d-yuaucsiadl shasdl
(€) UMl sl D) Al sudeusal
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27.

29.

A gifted child possesses the following quahty

(A) High intelligence
(B) Exceptional academic performance
(C) Creativity

‘ (D) All of the above .

wRenoll onasui LAl Ql,'i‘l e‘ttt 0 :
&) G gl

(B) xvaezw Jalks Al

(©) usllac

©) Gusit wui o

Interference .theory implies ;

(A) Positive transfer of learning
(B) Negative transfer of learning
(C) Both of the above

(D} ‘None of the above |

Sy Rigia ¢ Yl 8 :

(A) YA ASILHS AHHR

(B) YA ASIUHS AsUA

(C) Guu ofn

D) Gunidl 25 ya dl

. The mabl_hty to function normally thmugh one or m'ore_of the senses signifies :

(A) Sensory impairment
(B) Mental retardation

(O Commaunication disorder

(D) Learning disability

s waal ay SRUL gl B sid sl e 4 e‘lcll g el 8 ‘?

A) Buds vl
(B) RS werauyg

(O NeuAul 3l

D) AU BEHHCL
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30.

31.

32.

Acceleration implies : : ' - ' '

(A) ' The advanced intellectual process through whxch we understand meanings.

(B). The process of 1mmed1ate adjustment to internal/external conditions that
affect intelligence. :

(C) The ability to use higher order intellectual skills.
The advancement of a gifted student to a hlgher grade leVel.

&oﬂaw 4 yad 8.7 :

A) Wid s NEFWR T gL 2l a»tei %mwﬂ eila?l

®) ofe vu sdl xidls MG wiRaR wd desils %tﬁ{a-t waaidl
NGB,

© G Aell-u olllgs Slaal nuiorarl ald.

@) wlenwddl Rl As G2 i GU Al Q.

The theory that through perception people can put thmgs together, which
results in learning and pmblem solvmg is called :

(A) Insight learmng (B) Remforcement theory
(C) Field theory - (D) - Connectionism

neaalls@ gt oil¥a Al s D A A A dal W Glam u&mﬂ
@—-z»u Rgiat sa i z:utmqmt a»u& 8 ? -

(A) :»ucn-qgs s | (B) ﬁi&bw R
© 8 Rugid T 1)) AslAUE

When a person is equally attracted towards two goals when only one can
be reached, the conﬂlct that arises is :

(A) Approach-avoidance ’ . (B) - Avoidance-avoidance

©) Approach-approach _ (D) Conflict-compromise

FU2 SIS ABd A wi A} 2sds AU YAl gl A A As ¥ wa
1S u% A A, dl Fefe an dadHd wsi sl B 7

(A) M-t . (B) l'a.amﬂ-[a.omvt |
© wREEA-ARER @) Awlwuant

Edu—II | 18 | P.T.O.



33.

34.

35.

The process through which we acquire emotions and temperament associated
- with own feeling state is called :.
-(A) Psycho-motor learning

(B) Holistic learning

(C) Effective learning

D) Affective learning - '
2uRll cuaRala A Aqeifia a&ou Q»H wu&ov?t 2 % u[%zua[l u[?éct 32‘1211
A A s AR Al 2udS ?

(A) RS ey

B) Al meun
(C) USRS AU
(D) GHAS U

 Hierarchical learning sxgmﬁes

(A) A chain of recognition of and sat1sfact10n mth our own behaviour.

(B) Somethmg in the envn'onment ‘that is designed to represent the real
tlnngs -

(C) The ability to move towards goals is small steps.

(D) The arrangement of acqmred reasons from 31mple to complex.

Ay vy g yad | ?

a) sl % adndl dflglq 21 Al MR z{cﬁ\t—[l Yuidt, -

@) wulazeni 284 5853 F v agalin 9 sAL MR WA 9.

(© usl Al gt Au dxs warll abq.

Oruel Age dg wal siairl ¥ sl AR,

An effective class-room’ teacher is the one who :

(A) has a mastery over his subject.

"(B) maintains discipline in the class.

(C) possesses good communication skills.
(D) knows his students well.
wA5I5 wl-Ras AN s ?

() % vidirit Rval Ryaa ¢,

® % aolui [Qrd Aadl a3 8.
(C) % W eyt Alda 4ud Y
¥ dsll [&Fwﬁbﬁ& W A aw 9.
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36.

37.

38.

39.

Accordmg to’ Field theory a person’s behavmur depends on contmuous
interaction between : ' ' '

(A) Heredity and learning.

(B) Heredity and acquired abilities.

(C) The person and his life-needs.

(D) The person and his environment. -

Ao-Rigicd AR Al adw il mcthma{ Al [%*u Y uqacl 7
(A) UL el YA,

®) wl A 2B s3ell aBavit.

(©) Aal3d . d-dl wad-spagusdi,

(@) ABd w dd wulaz.

Which method of Iearmng is advocated by connectmmsm ‘7

' (A) Learning by insight | (B) Trial and error
(C) Heuristic learning - My Learmng by domg
Asaale 5§ wou vgld wndq 52 ¢
(A) SIAYP Gl AU - B) Ul WA MY -

(©) waasll >y (D) B g vy

A researcher wants to study eﬁ'ectweness of three methods of teachmg, for
th13, most appropriate method of research is.

(A) Survey ' _ - (B) _Hlstorical

(C) Experimental (D) None of these

deiad dllwaaill A UGl A 5ol 2o 539 B, B M2 Aeft
oy, 2allar ua[a

@ udaa - ® AR .
(0 wails | | @) U A= ULl Ay rlé[
The obJectlve of soclometry 1s the discovery of : _
(&) Social distance I B) Gmup cohesweness :
(©) Interaqtlon pattern . o D) Al} the three:
aulrsalanl dg 4 visard @ ?

@A) Wulys »id L (B) %A AstHdL

©) AidlRs dle @ W AR

Edu.—II . 15 ~ PTO.



10.

41.

42

- When population i_s_hon;c_;ogeneous. the b_est,' method rof sampling is :
(4) Random :

(B) Purposive
(C) Cluster
(D) Incidential .

ufsa yuioL em U Fvaa[ waigofl-l (awm qa[a @

() %igAs

(B) dgyd

©) v

D) susus

Which statement is moorrect ?

A Dichotomus vanables are dlsoontmuous

B) Dlsoontmuous ‘variables are dichotomus D
(C) Discontinuous variables ean be dichotomized .
(D) Continuous variables can be dichotomized
$f Rat vig 8 7

@) RBand uel 2xAda S B,

(B) vRldd adl Bandl sty 9.

(© wudd yal Ranll 531 wsia B,

D) Ade Al Bl 57 asi 8.

. “Mean achievement of studenta studied through Lecture method will
- differ from that of t.he students studied through PLM.” Type of hypothesis

will be : - |
(A) Directionasl ~  (B) Non-directional
(C) Null ' ' (D). None of the three

“aguia YelR g2t sy 53di Rensllid a1l R, M@ ieun
GIRL VOARL $cdl Reuellil- g %A e 7 L Geseuiril U8R

@) RBuwyas | ® Bt Ruas &

O MRuelu e @ 21 2 Ul A3
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43.

44.

&

Which of the -following is not-a method for estimating reliability ?

(A) KR-20 B (B) . Test-retest

(©) Split-half ‘(D) Pactor analysis

it AL 55 wgR Rran-duct wfa szaL w2 4l ?

(o) KR-20 | ®) sAd-yet:504

© unéAde - (D) AU Yas5Q

In order to analyse data through chi-square, the measurement of vanable
"+ . ghouldbe : B " '

(A) Interval scale - (B) Ordinal scale

(C) Nominal scale _- | (D) Ratio-scale

18-adf gt wRdlg USSR 52U U2 A -l weld elc[l AS, :

@) az ¥s B) $uis |

(©) Wam s () walrn 2i4

45.

46. .

- When both the variables are contmuous and out of which one variable is

dlchotomous, to find oorrelatlon between them, we use :

(A) Bi-serial B) Tetrachonc

(C) Product moment - (D) Rank difference \

FUI A AL Add 14 A A UGl As Ad Bl glu cud dudl qd-dl

o uediel e WS Guaia dard wel ¢

“ () Rafks T (®) ageifes
(©) R JusR (D) #is dsad
_ ;If the value of Kurtosis is 0. 263 what would be the nature of distribution ?
A) .Platy Kurtic B (B) Lepto Kurtic
(C) Meso Kurtic (D) None of the three
% sgedid ed 0.263 ¢i, dl A Rdradl usiR sul awm ?
@ ade sgeat (B) §2 S5ecl
(©) WY, 558 @ oo W Ayl
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@

Mean achievement of 10 students is 50; If five is added to each score, what

47,
would be resulting mean ?
@A) 10 | ®B) 250
© 4 @ 55
et Renellail Rl Al 50 8. A 835 Maisal i Gﬂacwu A4
Ay AR e eu& ?
(A) 10 | - B) 250
©) 45 L D). 55 -
48. Which one is the correct formula for computmg standard error of mult:tple
correlation ? L
1-R? -  1-R?
@ N X ® W
 1+R? | |  1+RZ
© N+m S O ™"
ragate[lq Asoiyl unuaogg AAU U2y 54 Yo WY & ?
L I-R 1-R?* '
@ Nrm B T
1+ R2 ' . 1+R% |
© JN+m. : ®) JN-m .
49, ‘Relat:lonshp between Mean, Median and Mode is determined by :

' (A) Mode = 3 Median ~ 2 Mean  (B) Mode = 3 Median + 2 Mean
(C) Mode = 2 Median — 3 Mean D) Mode = 2 Median + 3 Mean
WRLS, YBRA WA olgas aAnl dola eulaaud Yot )

(A) O4AS = 3 HBRY —~ 2 WMS  (B) Glgds = 3 oY + 2 WS
(C) Blgds = 2 HBRY ~ 3 YRS (D) Glgds = 2 HBIRA + 3 HAS
50. In which research statistical hypothesis is not used ?
(A) Experimental (B) Ex-Post-Facto
(C) Qualitative _ {D) Descriptive
sul daianl sy Geseudtt ayudl el ?
@) WiPis - (B) vlsU-UiR-F52l
(©) A o (D) asities
 Edu~II 18
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